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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P60:Σy−F02_L,s(λ)=102,93
xF02_L,s=0,2218
yF02_L,s=0,2646
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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P55:Σy−F02_L,s(λ)=102,45
xF02_L,s=0,2303
yF02_L,s=0,2772
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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P50:Σy−F02_L,s(λ)=102,01
xF02_L,s=0,2413
yF02_L,s=0,2923
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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P45:Σy−F02_L,s(λ)=101,65
xF02_L,s=0,2556
yF02_L,s=0,3105
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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P40:Σy−F02_L,s(λ)=101,50
xF02_L,s=0,2749
yF02_L,s=0,3325
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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P35:Σy−F02_L,s(λ)=101,77
xF02_L,s=0,3012
yF02_L,s=0,3584
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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P30:Σy−F02_L,s(λ)=102,92
xF02_L,s=0,3376
yF02_L,s=0,3877
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CIEF02_L-Normspektralwerte Ysum=100
y−F02_L,s(λ)=A21l

−
F02_L,s(λ)+A22m

−
F02_L,s(λ)

+A23s
−

F02_L,s(λ)
A2j 0,6899 0,3483 0,000 (λ=540)

P25:Σy−F02_L,s(λ)=106,00
xF02_L,s=0,3880
yF02_L,s=0,4168


